[ number of missing inner layers | [ number of missing outer layers |

1e Entries 521040 1e Entries 521040
E Mean 0.04077 E : : ¢ [ Mean 1.19
F Std Dev 0.2142 Std Dev 1.852
L R L[l . |
107 Entries 515755 107 Entries 515755
F Mean 0.04072 F Mean 1.179
C i [stdpev 0.2136 C Std Dev 1.844
2L Deeeetoiiiitoiiit.... I 7 I - S DU
10 3 Entnes 10 3 Entries 515327
F Mean F Mean 1.179
3 r Std Dev 3 I N N Std Dev 1.844
10°F 107 e
o Entries o : H Entries 515842
o Mean o Mean 1179
104 I Std Dev 104 B Std Dev 1.844
-5 UL SO T S 5[
10°F - 107F
O10—6....I....I....I............!....!....!....!.... 0105(3_ |
T T IS r :
o I N @ L N =T -
09k 1_++:+:,'+'_4'_ """" D S Rt b
080 DR R S 0.95L : : :
0 1 2 3 4 5 6 7 8 9 10 0 5 10 15 20 25

=== DONM_TT__oniginal
=== DQM_TT__mod_modelsdeep_truthfinal_modelTEST-25
mean hif === DOM_ TT__mod_modelsdeep_truthfinal_reg_altmodel TEST-29
e DOM_TT__mod_modelsdeep_truthfinal_reg_model TEST-24

— 20 T T T T T 105 SRR L e Entries 521040
» . . : : : E R Mean 11.79
> 18 r = Std Dev 6.696
N o - N H H
» : :
= 3 I O . F : | Entries 515755
e 16 10%E : 11.86
v 14F E A 6.716
3 -_ 515327
12 10°E 11.86
E 6.717
10 [ : :
2 Entries 515842
10° 1 mean 11.86
E td Dev 6.716
10
2 : ; 1'
o +OF . . . 9*'”"? ' PR TIPS FEET I . !
§ r . : : : § r : +_+ g g
C e : : pIaes [ : 11
e “Wﬂ+ #W;#M ..... v o +++++++#+*+*+ Tt
. e $ A H + ++ :
: : : : : LS :
0.95 - 0.95
=3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
Entries 143225 - - - Entries 626188
Mean 2.115 - Mean 0.4409
Std Dev. 5.971 107 Std Dev. 1.467
R | I O By - R ~ T 1
= Entries 143225 Entries 615454
Y T S SURR Mean 2.115 Mean 0.4411
107E Std Dev 5.971 1072 : Std Dev 1.467
E ; T . : 1
B Entries 143225 r Entries 614796
3 an 2.115 o : Mean 0.4408
10 °E LIS‘\E_DSV 5.971 1073k : B Std Dev. 1.466
E Entries 143225 E [mme‘,s 615560
Mean 2.115 - . Mean 0.4411
10 E Std Dev 5971 [T R — T . Std Dev 1.466
10°° 2 107°F PR PETE  EPEPRPRP
910‘-"’ - 4 Qlo—g__A_A_u_u.u.lTTl T | In
I ||” g t 1| [
‘llllluulllllll“l” b1 S ,* ..... ]
;_”TTTTTTTTTTT]'TT”'HHH N kS
C : C * +
0.95L 5 ’ : 0.95L ati : i
10* 1 10 10? 10° 10 1 10 10? 103

TP p

o



	Contents
	Page 1


